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Number of Questions to be attempted : 20

Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870142
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108705701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following crops is a commercial crop in Punjab and Haryana but is a
subsistence crop in Qrissa?

1. Tea

2. Cotton

3. Rubber

4, Rice
Options :
71087022801. 1
71087022802. 2
71087022803. 3
71087022804. 4

Question Number : 2 Question Id : 7108705702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are the two most important wheat-growing zones of the country?
A. Ganga-Satluj plains in the north-west

B. Deltaic regions

C. Black sail region of the Deccan

D. Plains of north-east

Choose the correct answer from the options below:

1.Only A and B
2.Only B and C
3.0nlyCand D
4. Only Aand C
Options :
71087022805. 1
71087022806. 2
71087022807. 3
71087022808. 4

Question Number : 3 Question Id : 7108705703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian agriculture is typically characterized as

1. Land surplus, labour scarce economy
2. Land surplus, labour surplus economy
3. Land scarce, labour surplus economy
4. Land scarce, labour scarce economy
Options :

71087022809. 1



71087022810. 2
71087022811. 3
71087022812. 4

Question Number : 4 Question Id : 7108705704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries is the main rival of India in tea export?

1. China

2. Japan

3. Germany

4. Sri Lanka
Options :
71087022813. 1
71087022814. 2
71087022815. 3
71087022816. 4

Question Number : 5 Question Id : 7108705705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement A: MSP is declared by the government every year to provide incentives to the
farmers for raising the production of crops.

Statement B: Buffer stock is created to distribute food grains in the deficit areas and among
the poorer strata of the society at the lower price than the market price.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement A and Statement B are correct

2. Both Statement A and Statement B are incorrect
3. Statement A is correct but Statement B is incorrect
4, Statement A is incorrect but Statement B is correct
Options :

71087022817. 1

71087022818. 2

71087022819. 3

71087022820. 4

Question Number : 6 Question Id : 7108705706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a global association of nations of the world to help cooperation
in international law, security, economic development and social equity?

1. United Nations Organization
2. International Monetary Fund
3. World Bank

4. World Health Organization



Options :

71087022821. 1
71087022822. 2
71087022823. 3
71087022824. 4

Question Number : 7 Question Id : 7108705707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Under the Ganga Action Plan Phase Il, pollution abatement works are being taken up in how
many towns?

1. 57

2. 65

3.52

4. 69

Options :
71087022825. 1
71087022826. 2
71087022827. 3
71087022828. 4

Question Number : 8 Question Id : 7108705708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is incorrect?

1. The highest number of pigs in the world are found in India

2. Utter Pradesh provides largest amount of pork

3. Assam has the largest number of pork producing pigs

4. Pork constitutes about 7.6% of the total meat produced in India
Options :



71087022829. 1
71087022830. 2
71087022831. 3
71087022832. 4

Question Number : 9 Question Id : 7108705709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which type of N-fertilizer is suitable for water-logged soils?

1. Zinc Phosphate

2. Ammonium Sulphate
3. Calcium

4. Potassium Nitrate
Options :

71087022833. 1
71087022834. 2
71087022835. 3
71087022836. 4

Question Number : 10 Question Id : 7108705710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The famous Bailadila range of hills in the Bastar district of Chhattisgarh is famous for its

1. Bauxite deposits

2. Manganese deposits

3. Copper deposits

4. High-grade haematite deposits
Options :

71087022837. 1



71087022838. 2
71087022839. 3
71087022840. 4

Question Number : 11 Question Id : 7108705711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A farmer wishes to start a 100 sg. m rectangular vegetable garden. Since he has only 30m
barbed wire, he fences three sides of the garden letting his house compound wall act as the
fourth side fencing. What is the dimension of the garden?

1. 15 m x 6.6/m
220mx5m
330mx333m
4 40mx25m
Options :
71087022841. 1
71087022842. 2
71087022843. 3
71087022844. 4

Question Number : 12 Question Id : 7108705712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following industries, the consumption of natural rubber is the largest?

1. Auto tyres and tubes
2. Footwear

3. Dipped goods

4. Latex foam

Options :



71087022845. 1
71087022846. 2
71087022847. 3
71087022848. 4

Question Number : 13 Question Id : 7108705713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries was the partner country of 34" Surajkund International
Crafts Fair held in Haryana?

1. China

2. Nepal

3. Bhutan

4, Uzbekistan
Options :
71087022849. 1
71087022850. 2
71087022851. 3
71087022852. 4

Question Number : 14 Question Id : 7108705714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Nobel laureate Abhijit Vinayak Banerjee was conferred the honorary Doctor of Letters (D. Litt.)
by which University?

1. University of Delhi

2. University of Kolkata

3. University of Mumbai

4. University of Hyderabad



Options :

71087022853. 1
71087022854. 2
71087022855. 3
71087022856. 4

Question Number : 15 Question Id : 7108705715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the headquarters of European Union?

1. Geneva, Switzerland
2. Washington D.C., USA
3. New York, US

4. Brussels, Belgium
Options :

71087022857. 1
71087022858. 2
71087022859. 3
71087022860. 4

Question Number : 16 Question Id : 7108705716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following would be deficient if one finds high somatic cell count in the cow's
milk?

1. Butterfat

2. Whey protein
3. Casein

4, Trace minerals



Options :

71087022861. 1
71087022862. 2
71087022863. 3
71087022864. 4

Question Number : 17 Question Id : 7108705717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who was the first administrator-statesman to attempt planning as a means for economic
development?

1. C. Rajagopalachari

2. V. T. Krishnamachari

3. M. Viswesvarayya

4. Sir C. P. Ramaswami Aiyyar
Options :

71087022865. 1

71087022866. 2

71087022867. 3

71087022868. 4

Question Number : 18 Question Id : 7108705718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Amazon rainforest span over nine countries. In August 2019, in which country did a deadly fire
broke out in the Amazon forest?

1. Brazil

2. Venezuela
3. Colombia
4. Argentina



Options :

71087022869. 1
71087022870. 2
71087022871. 3
71087022872. 4

Question Number : 19 Question Id : 7108705719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Economic liberalization in India started with

1. Sustainable changes in industrial licensing policy
2. The convertibility of the Indian Rupee

3. Significant reduction of tax rates

4. Changes in procedural formalities for FDI
Options :

71087022873. 1

71087022874. 2

71087022875. 3

71087022876. 4

Question Number : 20 Question Id : 7108705720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term ‘Delimitation’ which was in news recently is associated with which process?

1. Fixing the limit of Income tax

2. Fixing limits of Affordable housing

3. Fixing limits of Territorial constituencies
4. Fixing limits of Chairpersons salary
Options :

71087022877. 1



71087022878. 2
71087022879. 3
71087022880. 4

Part B Core Community Science

Section Id : 710870143
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870143
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7108705721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Consumer education is the study of:

A. Discovering personal needs.

B. Being aware of consumer rights.

C. Knowing resources used for production.

D. Learning not to be persuaded.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only

Options :

71087022881. 1
71087022882. 2
71087022883. 3
71087022884. 4

Question Number : 22 Question Id : 7108705722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The complimentary colours on the colour wheel of 'Prang System’ are:
A. Red and Yellow

B. Red and Green

C. Yellow and Purple

D. Yellow and Blue

E. Blue and Orange

Choose the correct answer from the options given below:

1. A, B, Conly
2. B, C, D only
3.B,C, Eonly
4.C, D, E only
Options :

71087022885. 1
71087022886. 2
71087022887. 3
71087022888. 4

Question Number : 23 Question Id : 7108705723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Speed of a motor-driven equipment is measured in

1. RPM

2. Horse Power
3. Kilo Watt hour
4, Volts

Options :



71087022889. 1
71087022890. 2
71087022891. 3
71087022892. 4

Question Number : 24 Question Id : 7108705724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dark colouration in aluminium vessels occurs due to its contact with:
A. Acidic Solutions

B. Alkaline Solutions

C. Hard Water

D. Qil

E. Dust

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3.B and C only
4. D and E only
Options :
71087022893. 1
71087022894. 2
71087022895. 3
71087022896. 4

Question Number : 25 Question Id : 7108705725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Which one of the following is a consumer publication published by the Consumer Guidance
Society of India?

1. Aawaz

2. Sanskaar

3. Adhikaar

4. Keemat
Options :
71087022897. 1
71087022898. 2
71087022899. 3
71087022900. 4

Question Number : 26 Question Id : 7108705726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The marketing system that studies marketing data using statistical procedures and models

1. Internal Accounting System
2. Analytical Marketing System
3. Market Intelligence System
4. Market Monitoring System
Options :

71087022901. 1

71087022902. 2

71087022903. 3

71087022904. 4

Question Number : 27 Question Id : 7108705727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Limit of elbow flexion is

1. 90°

2. 110°
3.130°

4. 150°
Options :
71087022905. 1
71087022906. 2
71087022907. 3
71087022908. 4

Question Number : 28 Question Id : 7108705728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Recommended height of the railing of the staircase is

1. 2 feet
lzgmﬂ

3. 3 feet
43?&&

Options :

71087022909. 1
71087022910. 2
71087022911. 3
71087022912. 4

Question Number : 29 Question Id : 7108705729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A step by step description of the method used in doing the work is called a

1. Pathway Chart
2. Process Chart
3. Motion Studies
4. Transportation
Options :
71087022913. 1
71087022914. 2
71087022915. 3
71087022916. 4

Question Number : 30 Question Id : 7108705730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The components of the larger environment of a family are:
A. Neighbourhood

B. Schools

C. Government

D. Local Parks

E. Solar System

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :



71087022917. 1
71087022918. 2
71087022919. 3
71087022920. 4

Question Number : 31 Question Id : 7108705731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In a dress, design rhythm CANNOT be produced by

1. Alternation

2. Concentration
3. Radiation

4. Progression
Options :
71087022921. 1
71087022922. 2
71087022923. 3
71087022924. 4

Question Number : 32 Question Id : 7108705732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Sanforization falls under which category of finishing processes applied on fabrics?

1. Chemical

2. Mechanical
3. Aesthetic

4. Protection
Options :
71087022925. 1



71087022926. 2
71087022927. 3
71087022928. 4

Question Number : 33 Question Id : 7108705733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT a ply yarn?

1. Cord

2. Complex

3. Novelty

4. Filament
Options :
71087022929. 1
71087022930. 2
71087022931. 3
71087022932. 4

Question Number : 34 Question Id : 7108705734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of a warp knit?

1. Tricot

2. Jersey

3. Purl

4. Interlock
Options :
71087022933. 1
71087022934. 2
71087022935. 3



71087022936. 4

Question Number : 35 Question Id : 7108705735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a regenerated protein fiber?

1. Rayon

2. Lyocell

3. Azlon

4, Cuprammaonium
Options :
71087022937. 1
71087022938. 2
71087022939. 3
71087022940. 4

Question Number : 36 Question Id : 7108705736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A horizontal off shade band found across the knitted fabric can be due to:
A. Defect in yarn

B. Uneven tension

C. Stock dyeing

D. Low thread count

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087022941. 1
71087022942. 2
71087022943. 3
71087022944. 4

Question Number : 37 Question Id : 7108705737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Vertical lines in a garment can be incorporated as:

A. Flap pockets

B. Knife pleats

C. Boat neckline

D. Pointed collars

E Single columns of colour

Choose the correct answer from the options given below:

1. A, B, Donly
2.C, E, Donly
3.B, D, E only
4. A C Donly
Options :

71087022945. 1
71087022946. 2
71087022947. 3
71087022948. 4

Question Number : 38 Question Id : 7108705738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two Statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Disperse dyes are most suitable for transfer printing
Reason R: Disperse dyes sublime on heating
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087022949. 1

71087022950. 2

71087022951. 3

71087022952. 4

Question Number : 39 Question Id : 7108705739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: In a skirt, diagonal wrinkles radiating towards the side seams and the center front
indicate prominent hip bones

Statement II: The upper tips of the pelvic girdle are less than average

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087022953. 1

71087022954. 2

71087022955. 3

71087022956. 4

Question Number : 40 Question Id : 7108705740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List Il

Seams Characteristics/Purpose

A. Fused . Used for suede/leather and vinyl
B. French

Il. Zig Zag or overedge stitch

C. Hairline lll. Quterwear of transparent fabric

IV. Formed by a melting process
D. Glued which joins the seamline of
thermoplastic fabric

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-Il
2ZA-IV,B-ILC-ILD-1
JA-IV,B-ILC-I,D-1
4AA-L,B-ILC-II,LD-IV
Options :

71087022957. 1
71087022958. 2
71087022959. 3
71087022960. 4

Question Number : 41 Question Id : 7108705741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Energy yielding foods include:

A. Cereals

B. Fruits

C. Nuts and oilseeds

D. Vegetables

E. Fish

Choose the most appropriate answer from the options given below:

1. A and E only
2. C and E only
3. A and C only
4. B and D only

Options :

71087022961. 1
71087022962. 2
71087022963. 3
71087022964. 4

Question Number : 42 Question Id : 7108705742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Sprouting or germination helps to enhance the starch digestibility

Statement lI: Fermented foods are generally less nutritious than theri unfermented
counterparts

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087022965. 1

71087022966. 2

71087022967. 3

71087022968. 4

Question Number : 43 Question Id : 7108705743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List 11

A. Preservative . Adulterant

B. Metanil yellow Il. Groundnuts

C. Aflatoxin lll. Sodium benzoate
D. Sensory evaluation V. Texture

Choose the correct answer from the options given below:

TLA-NILB-ILC-1V,D-1
ZA-1,B-LC-1,D-1IV
JA-NILB-L,C-1I,D-1V
4 A-ILB-I,C-1V,D-1
Options :

71087022969. 1
71087022970. 2
71087022971. 3
71087022972. 4

Question Number : 44 Question Id : 7108705744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Idli, Bread and Dhokla are examples of which of the following types of foods?

1. Germinated foods
2. Sprouted foods

3. Marinated foods
4. Fermented foods
Options :
71087022973. 1
71087022974. 2



71087022975. 3
71087022976. 4

Question Number : 45 Question Id : 7108705745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT an intentional adulterant?

1. Water

2. Starch

3. Removal of fat
4, Pesticides
Options :
71087022977. 1
71087022978. 2
71087022979. 3
71087022980. 4

Question Number : 46 Question Id : 7108705746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following nutrients enhances the bioavailability of iron?

1. Ascorbic acid
2. Thiamine

3. Vitamin D

4, Retinol
Options :
71087022981. 1
71087022982. 2
71087022983. 3
71087022984. 4



Question Number : 47 Question Id : 7108705747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The height falling much short of the reference height of a person (of a given age) is known as

1. Underweight
2. Stunting

3. Wasting

4. Over nutrition
Options :
71087022985. 1
71087022986. 2
71087022987. 3
71087022988. 4

Question Number : 48 Question Id : 7108705748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Major nutrient involved in bone and tooth formation in humans is

1. Magnesium
2. Selenium

3. Chromium
4, Calcium

Options :

71087022989. 1
71087022990. 2
71087022991. 3
71087022992. 4



Question Number : 49 Question Id : 7108705749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The weight of Reference Indian Women in the age range of 18-29 years should be

1.55 kg
2. 60 kg
3.65 kg
4.62 kg
Options :
71087022993. 1
71087022994. 2
71087022995. 3
71087022996. 4

Question Number : 50 Question Id : 7108705750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: In jaundice, yellow discolouration of the skin occurs
Reason R: Damage to liver cells leads to an increase in bilirubin
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087022997. 1



71087022998. 2
71087022999. 3
71087023000. 4

Question Number : 51 Question Id : 7108705751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The age of viability for the unborn fetus is reached in

1. First trimester

2. Beginning of the second trimester
3. The third trimester

4. Germinal period

Options :

71087023001. 1

71087023002. 2

71087023003. 3

71087023004. 4

Question Number : 52 Question Id : 7108705752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ten year old Reshma, is in the stage of

1. Early childhood

2. Middle childhood
3. Late childhood

4. Early adolescence
Options :
71087023005. 1
71087023006. 2
71087023007. 3



71087023008. 4

Question Number : 53 Question Id : 7108705753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Families must understand that body image is an important component of the adolescent's

1. Sense of identity
2. Egocentrism

3. Formal operations
4. Family image
Options :
71087023009. 1
71087023010. 2
71087023011. 3
71087023012. 4

Question Number : 54 Question Id : 7108705754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes assimilation?

1. Existing schemes of thought

2. Test of memory

3. Addition of new information to the existing among children
4. Parental intervention

Options :

71087023013. 1

71087023014. 2

71087023015. 3

71087023016. 4



Question Number : 55 Question Id : 7108705755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Children are able to grasp the principle of conservation at which stage of development?

1. Sensorimotor thought

2. Preoperational thought

3. Concrete operational thought
4. Adulthood

Options :

71087023017. 1

71087023018. 2

71087023019. 3

71087023020. 4

Question Number : 56 Question Id : 7108705756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Identify the activities from the following list, which promote pre-writing skills in children.
A. Running and jumping

B. Threading beads

C. Cutting pasting

D. Throw and catch

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3.B and C only
4. A and D only
Options :
71087023021. 1
71087023022. 2
71087023023. 3
71087023024. 4

Question Number : 57 Question Id : 7108705757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are the rights of the children as stated in the UNCRC?
A. Right to Participation

B. Right to Development

C. Right to Exploration

D. Right to Travel

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. A and D only
Options :
71087023025. 1
71087023026. 2
71087023027. 3
71087023028. 4

Question Number : 58 Question Id : 7108705758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: A premature child tends to make faster developmental strides throughout life
compared to those born at full term

Reason R: Parental warmth can lead to positive gains for children who are born prematurely
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is Not the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087023029. 1

71087023030. 2

71087023031. 3

71087023032. 4

Question Number : 59 Question Id : 7108705759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the life cycle tasks of Freud's Theory of Psycho-sexual Development in chronological
order

A. Children are learning bowel control

B. Id impulses transfer to the genitals

C. Sexual instincts die down

D. Ego directs sucking activities to breast/bottle

E. Sexual impulses reappear

Choose the correct answer from the options given below:

1.ADECB
2 A DBCE
3.D,AECEB
4.D,A B CE
Options :
71087023033. 1
71087023034. 2
71087023035. 3
71087023036. 4

Question Number : 60 Question Id : 7108705760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange these motor skills in chronological order of occurrence
A. Holds head erect and steady

B. Rolls from side to back

C. When prone, lifts self by arms

D. Rolls from back to the side

Choose the correct answer from the options given below:

1. A CBD
2CADB
3ACDB
4.C, B, A D
Options :
71087023037. 1
71087023038. 2
71087023039. 3
71087023040. 4

Question Number : 61 Question Id : 7108705761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Extension aims at bringing about change in

1. Knowledge only
2. Attitude only

3. Skills only

4. All the above

Options :
71087023041. 1



71087023042. 2
71087023043. 3
71087023044. 4

Question Number : 62 Question Id : 7108705762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Most modern media of communication is

1. Puppets

2. Folk story telling
3. Television

4. Slide shows
Options :
71087023045. 1
71087023046. 2
71087023047. 3
71087023048. 4

Question Number : 63 Question Id : 7108705763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum number of flashcards to be used for ane talk is

1. 10-12
2.12-14
3. 14-16
4. 16-18
Options :
71087023049. 1
71087023050. 2
71087023051. 3



71087023052. 4

Question Number : 64 Question Id : 7108705764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sound extension program is based upon which one of the following principles?

1. Analysis of the problem
2. Prioritizing needs

3. Determining objectives
4. All the above

Options :

71087023053. 1
71087023054. 2
71087023055. 3
71087023056. 4

Question Number : 65 Question Id : 7108705765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The State Agricultural University in India which is considered to have ushered the Green
Revolution in the country is

1. GEPUA & T, Pantnagar
2. HAU, Hissar

3. PAU, Ludhiana

4. APAU, Hyderabad
Options :

71087023057. 1
71087023058. 2
71087023059. 3
71087023060. 4



Question Number : 66 Question Id : 7108705766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The apex body for Agricultural research, teaching and extension in the country is

1. ATIC
2 ICAR
3. KVK
4, SAU

Options :

71087023061. 1
71087023062. 2
71087023063. 3
71087023064. 4

Question Number : 67 Question Id : 7108705767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The purpose of feeding data in an excel sheet is

1. Analysis of data
2. Sorting of data

3. Preparing graphs
4. All the above
Options :
71087023065. 1
71087023066. 2
71087023067. 3
71087023068. 4



Question Number : 68 Question Id : 7108705768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Place where the farmers can directly sell their produce to consumers

1. STEP

2. Apni Mandi

3. Chaupal

4. Mahila-E-Haat

Options :

71087023069. 1
71087023070. 2
71087023071. 3
71087023072. 4

Question Number : 69 Question Id : 7108705769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A program with a focus on women development

1. JRY

2. TRYSEM

3. DWCRA

4. IRDP
Options :
71087023073. 1
71087023074. 2
71087023075. 3
71087023076. 4

Question Number : 70 Question Id : 7108705770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

The process through which innovation spreads to the members of the social system is

1. Innovation decision
2. Communication

3. Adoption

4, Diffusion

Options :
71087023077. 1
71087023078. 2
71087023079. 3
71087023080. 4

Part C Textiles and Apparel Designing

Section Id : 710870144
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Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870144
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7108705771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Telia Rumals are produced in

1. Sonepur

2. Yeola

3. Chirala

4. Bijapur
Options :
71087023081. 1
71087023082. 2
71087023083. 3
71087023084. 4

Question Number : 72 Question Id : 7108705772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT an asset of digital printing?

1. Mass customization

2. Increase of down time

3. Sampling in multiple cclors
4, Economic short runs

Options :

71087023085. 1
71087023086. 2
71087023087. 3
71087023088. 4

Question Number : 73 Question Id : 7108705773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following quality grading systems is commonly used by the jeans
manufacturers for their denim suppliers?

1. Ten point

2. Eight point
3. Four point
4. Graniteville
Options :
71087023089. 1
71087023090. 2
71087023091. 3
71087023092. 4

Question Number : 74 Question Id : 7108705774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Dyes which are suitable for dischargeable ground usually contain

1. Azo groups

2. Aminoc groups

3. Carboxylic groups
4. Hydroxyl groups
Options :
71087023093. 1
71087023094. 2
71087023095. 3
71087023096. 4

Question Number : 75 Question Id : 7108705775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a structural term used in the apparel industry?

1. Printing

2. Tucks

3. Embroidery
4. Applique
Options :
71087023097. 1
71087023098. 2
71087023099. 3
71087023100. 4

Question Number : 76 Question Id : 7108705776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which one of the following styles of collars, the neck edge of the collar follows the neckline
of the garment?

1. Flat

2. Full Roll

3. Partial Roll

4. Standing Band
Options :
71087023101. 1
71087023102. 2
71087023103. 3
71087023104. 4

Question Number : 77 Question Id : 7108705777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In-house testing is commonly adopted by

1. Small companies with large member of vendors
2. Large vertically integrated companies

3. Co-operatives

4. Small companies with wide distribution networks
Options :

71087023105. 1

71087023106. 2

71087023107. 3

71087023108. 4

Question Number : 78 Question Id : 7108705778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Chemical procedures for determining the percentage by weight of a generic fiber present in
a blend is given by which one of the following formulae?

(Where F = Original dry specimen mass and G = Extracted dry residual mass)

F—-G
1. l’lilllllL )
F—-G
2. 101]( )
F—-G ”
Fx100"
F—-G
4 x 100F
Options :

71087023109. 1
71087023110. 2
71087023111. 3
71087023112. 4



Question Number : 79 Question Id : 7108705779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Costume was strictly regulated by the State in which one of the following civilizations?

1. Greek

2. Mesopotamian
3. Egyptian

4. Roman
Options :
71087023113. 1
71087023114. 2
71087023115. 3
71087023116. 4

Question Number : 80 Question Id : 7108705780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following software is used for textile designing?

1. CATD

2. Lectra Kaledo
3. Browzwear

4. Optitex
Options :
71087023117. 1
71087023118. 2
71087023119. 3
71087023120. 4



Question Number : 81 Question Id : 7108705781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following production systems is based on teamwork and shared
responsibility for quality and quantity of output?

1. Unit production system

2. Modular production system
3. Progressive bundle system
4. Domestic production system
Options :

71087023121. 1

71087023122.2

71087023123. 3

71087023124. 4

Question Number : 82 Question Id : 7108705782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a modified natural thickening agent used in textile printing?

1. Polyvinyl alcohol

2. Carboxy methyl cellulose
3. Sodium alginate

4. Polyacrylamide

Options :

71087023125. 1
71087023126. 2
71087023127. 3
71087023128. 4

Question Number : 83 Question Id : 7108705783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Sodium carboxyl methyl cellulose present in detergent helps to

1. Suspend dirt in water

2. Protects aluminum parts of washing drum from pitting
3. Counter the natural discoloration of fabric

4. Soften the water

Options :

71087023129. 1

71087023130. 2

71087023131. 3

71087023132. 4

Question Number : 84 Question Id : 7108705784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Apparel Export Promotion Council promotes and develops export of which one of the
following types of readymade garments?

1. Leather

2. Cotton

3. Woolen knitwear
4. Jute

Options :
71087023133. 1
71087023134.2
71087023135. 3
71087023136. 4

Question Number : 85 Question Id : 7108705785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following groups acts as the chromophore in Indigoid vat dyes?

- —
. =0
S,
2. _.C =0H
3. —NH—-CO—RH
NH
-
4, — C
"
0
Options :

71087023137. 1
71087023138. 2
71087023139. 3
71087023140. 4

Question Number : 86 Question Id : 7108705786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following texturizing methods produces saw-tooth crimp in a yarn?

1. Knife edge
2. Air jet

3. Stuffer box
4. Knit de knit
Options :
71087023141. 1
71087023142. 2
71087023143.3
71087023144. 4

Question Number : 87 Question Id : 7108705787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following ease types is incorporated in a swimsuit?

1. Comfort ease
2. Style ease

3. Layered ease
4. Negative ease
Options :
71087023145. 1
71087023146. 2
71087023147. 3
71087023148. 4

Question Number : 88 Question Id : 7108705788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The acceptance specifications are usually prepared by which one of the following divisions?

1. Product development
2. Sales

3. Production

4. Merchandising
Options :

71087023149. 1
71087023150. 2
71087023151. 3
71087023152 4

Question Number : 89 Question Id : 7108705789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following has 50-80 as a degree of polymerisation?

1. Nylon 6.6

2. Acrylic

3. Polyester

4. Nylon 6
Options :
71087023153. 1
71087023154. 2
71087023155. 3
71087023156. 4

Question Number : 90 Question Id : 7108705790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an anionic dye?

1. Basic

2. Direct

3. Disperse

4, Reactive
Options :
71087023157. 1
71087023158. 2
71087023159. 3
71087023160. 4

Question Number : 91 Question Id : 7108705791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a fabric defect caused by distortion in warp and weft alignment
where filling yarns are straight but angled across the width of the fabric?

1. Bow

2. Metamerism
3. Skew

4, Barre
Options :
71087023161. 1
71087023162. 2
71087023163. 3
71087023164. 4

Question Number : 92 Question Id : 7108705792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The contribution of the Indian textile industry to the country's GDP is approximately

1. 3%

2. 5%

3. 8%

4. 10%
Options :
71087023165. 1
71087023166. 2
71087023167. 3
71087023168. 4

Question Number : 93 Question Id : 7108705793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is NOT a factor retarding fashion?

1. Isolation

2. Political upheaval

3. Conspicuous consumption
4. Depression in the economy
Options :

71087023169. 1

71087023170. 2

71087023171. 3

71087023172. 4

Question Number : 94 Question Id : 7108705794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT used for the application of double press finish on fabrics?

1. Dimethylol-dihydroxy ethylene urea
2. Methylated hexamethylol propylene
3. Melamine

4. Hydroxymethyl phosphonium
Options :

71087023173. 1

71087023174. 2

71087023175. 3

71087023176. 4

Question Number : 95 Question Id : 7108705795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is the mildest bleaching agent?

1. HaOa2

2. KMnOg4

3. Oxalic acid
4, lavelle water
Options :
71087023177. 1
71087023178.2
71087023179. 3
71087023180. 4

Question Number : 96 Question Id : 7108705796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A high level of back-up stock for a stock keeping unit is required when
A. Product availability levels are high

B. Lead time from the vendor is low

C. Vendor's fill rate is low

D. Fluctuation in demand is low

E. Fluctuation in lead time is high

Choose the correct answer from the options given below:

1. A, C Eonly
2.B, D, C only
3.B, D, E only
4. A B, Conly
Options :



71087023181. 1
71087023182. 2
71087023183. 3
71087023184. 4

Question Number : 97 Question Id : 7108705797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Water has a temporary hardness if the following salts are present in water
A. Calcium bicarbonate

B. Magnesium bicarbonate

C. Calcium sulphate

D. Calcium nitrate

Choose the most appropriate answer from the options given below:

1. A, D only

2. B, C only
3.C D only

4. A B only
Options :
71087023185. 1
71087023186. 2
71087023187. 3
71087023188. 4

Question Number : 98 Question Id : 7108705798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Speciality stores are characterised by

A. High level of service

B. Broad variety

C. Deep assortment

D. Approximately 30,000 SKU's

E. High price

Choose the correct answer from the options given below:

1.B, C, Eonly
2. A, C Eonly
3. A, D, Conly
4. A B, Donly
Options :

71087023189. 1
71087023190. 2
71087023191. 3
71087023192. 4

Question Number : 99 Question Id : 7108705799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are reducing agents that can be used for discharge printing?

A. Tin chloride

B. Sodium dichromate

C. Thiourea dioxide

D. Potassium permanganate

E. Sodium formaldehyde sulphoxylates

Choose the correct answer from the options given below:

1. A, D, E only
2. B, C, Eonly
3. A, C Eonly
4.C, D, E only
Options :
71087023193. 1
71087023194. 2
71087023195. 3
71087023196. 4

Question Number : 100 Question Id : 7108705800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Fabrics woven by Jacquard technique include

A. Granite

B. Waffle

C. Matelasse

D. Brocatelle

E. Tapestry

Choose the correct answer from the options given below:

1. A, B, Conly
2. B, C, D only
3.A, D, Eonly
4.C, D, E only
Options :

71087023197. 1
71087023198. 2
71087023199. 3
71087023200. 4

Question Number : 101 Question Id : 7108705801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Reasons for recommending water repellant fabrics for rainwear are
A. Adequate air permeability

B. Hand alteration insignificant

C. Fabric coated with synthetic polymer

D. High yarn count

Choose the correct answer from the options given below:

1. A, B, Conly
2. A, B, Donly
3.B,C, D only
4. A C Donly
Options :

71087023201. 1
71087023202. 2
71087023203. 3
71087023204. 4

Question Number : 102 Question Id : 7108705802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Flat abdomen would result in which of the following fit problems?
A. The hip fitting line may drop across the centre front

B. Fabric is loose

C. Vertical folds hang below the dart nearest to the centre front
D. A horizontal fold of the fabric is formed at the front waistline

E. Side seam above the hip curve bows forward

Choose the correct answer from the options given below

1. A, B, Conly
2. B, C, D only
3.C, D, Eonly
4. A D, Eonly
Options :

71087023205. 1
71087023206. 2
71087023207. 3
71087023208. 4

Question Number : 103 Question Id : 7108705803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Screen printing is an example of decorative trim

Reason R: Screen printing is the surface ornamentation of the garment

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087023209. 1

71087023210. 2

71087023211. 3

71087023212. 4

Question Number : 104 Question Id : 7108705804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Digital printing is the latest innovation in the printing technology and it transfers
digital-based images directly to a range of media

Statement lI: Digital printing utilizes plates to print or transfer an image

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087023213. 1

71087023214. 2

71087023215.3

71087023216. 4

Question Number : 105 Question Id : 7108705805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the apparel industry, most spreading operators are concerned with latent
defects

Statement lI: Latent defects can be readily seen or detected

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087023217. 1

71087023218. 2

71087023219. 3

71087023220. 4

Question Number : 106 Question Id : 7108705806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Width of the dart is proportional to its distance from the pivot point

Statement lI: With the increase in the distance from the pivot point, the width of the dart
increases

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087023221. 1

71087023222. 2

71087023223. 3

71087023224. 4

Question Number : 107 Question Id : 7108705807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: Counterfeits and knock-offs are imitations of the original
Reason R: Both counterfeits and knock-offs carry the labels and trademarks of the original
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087023225. 1

71087023226. 2

71087023227. 3

71087023228. 4

Question Number : 108 Question Id : 7108705808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: COD values are usually higher than BOD values in wastewater
Statement lI: More organic compounds can be chemically oxidized than biclogically oxidized

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087023229. 1

71087023230. 2

71087023231. 3

71087023232. 4

Question Number : 109 Question Id : 7108705809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List 11

A. Spandex . Railway transport and aircraft
B. Kevlar . Automobile interiors

C. Carbon lll. Helmets for defence

D. Glass IV. Foundation garments

Choose the correct answer from the options given below:

TLA-NLB-IV,C-1,D-1
ZA-IV,B-IILC-1,D-1
JA-1L,B-lILC-1I,D-1V
4 A-NLB-1IV,C-ILD-1
Options :

71087023233. 1
71087023234. 2
71087023235.3
71087023236. 4

Question Number : 110 Question Id : 7108705810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List Il
Traditional Article Description
4. Chope . Plain red cheaper Phulkari meant for daily

household wear

Il. Phulkari presented to the bride by maternal

ing grandmother

o lII. Inferior Phulkari with sparse dotted embroidery
presented to attendants on auspicious occasions

b THeaia IV. Auspicious red Phulkari with usually five motifs

worn by the bride during phera ceremony

Choose the correct answer from the options given below:

TA-ILB-1,C-1V,D-1l
2ZA-IV,B-ILC-ILD-1
JA-ILB-IV,C-I,D-1
AA-L,B-IILC-1IV,D-1lI
Options :

71087023237. 1
71087023238. 2
71087023239. 3
71087023240. 4

Question Number : 111 Question Id : 7108705811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List Il
Costume Description
A, Cyclas |. Padded or unpadded sort of variable length with

fitted bodice and slesves.

B. Garde-corps Il. Very long voluminous gown with enormous
sleeves, made from fur-lined rich fabric.

lll. A sleeveless scoop neck tabard with heraldic
C. Houppelande :
devices.

IV. Ungirded calf-length overcoat with full flared
D. Doublet
sleeves.

Choose the correct answer from the options given below:

TA-ILB-1,C-1V,D-1l
2A-IV,B-ILC-I,D-1l
JA-ILB-IV,C-1LD-1
AA-L,B-IILC-1IV,D-1lI
Options :

71087023241. 1
71087023242. 2
71087023243. 3
71087023244. 4

Question Number : 112 Question Id : 7108705812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List I
Equipment Measures

A. Comb Sorter . Yarn count

B. Perspirometer ll. Optical Density
C. Quadrant Balance l1l. Fibre length

D. Spectrophotometer IV. Colourfastness

Choose the correct answer from the options given below:

TA-ILB-IV,C-1Il,D-1
2ZA-I,B-ILC-IV,D-1
3B-ILD-IVC-1LA-1I
AA-IILB-IV,C-1,D-1I
Options :

71087023245. 1
71087023246. 2
71087023247. 3
71087023248. 4

Question Number : 113 Question Id : 7108705813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List 11
: l. Plain weave fabric with an almost balanced
A. Chino
thread count
B. Chintz Il. Type of twill weave
C. Clogue 1. Highly lustrous plain weave fabric
D. Chambray IV. Surface characterized by an irreqular, raised,

blister effect

Choose the correct answer from the options given below:

TLA-ILB-I,C-1,D-1IV
ZA-1ILB-U,C-IV,D-I
JA-ILB-IV,C-1L,D-I
4 A-NILB-ILC-1,D-IV
Options :

71087023249. 1
71087023250. 2
71087023251.3
71087023252. 4

Question Number : 114 Question Id : 7108705814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of making patola in the correct sequence
A. Plying and twisting of yarns

B. Marking the yarns with charcoal

C. Dyeing

D. Steaming and chemical treatment

E. Weaving

Choose the correct answer from the options given below:

1.D,A,B.C.E
2 A DCBE
3.D,A,C,BE
4. D,AEB,C
Options :
71087023253. 1
71087023254. 2
71087023255.3
71087023256. 4

Question Number : 115 Question Id : 7108705815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of manufacturing Nylon 6.6 in the correct sequence
A. Melting of polymer

B. Spinning

C. Polymerization in an autoclave

D. Extrusion in the form of ribbon and chipped into pellets

E. Formation of nylon salt

Choose the correct answer from the options given below:

1.ABDELCL
2ZECABD
3ECDAB
4.C,D A B E
Options :
71087023257. 1
71087023258. 2
71087023259. 3
71087023260. 4

Question Number : 116 Question Id : 7108705816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the steps of producing Kalamkaris in the correct sequence
A. Treatment of fabric with Myrabolam

B. Application of Iron acetate solution

C. Dunging of the fabric

D. Dyeing with alizarin

E. Application of alum mordant

Choose the correct answer from the options below:

1.A B DEC
2CABED
3.A,CDBE
4B, A ECD
Options :
71087023261. 1
71087023262. 2
71087023263. 3
71087023264. 4

Question Number : 117 Question Id : 7108705817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of preparing cotton fabric in the correct sequence
A. Scoring

B. Calendering

C. Mercerization

D. Bleaching

E. Singeing and desizing

Choose the correct answer from the options given below:

1.EADLCB
2 EADBC
3.A,EBDC
4.E A B CD
Options :

71087023265. 1
71087023266. 2
71087023267. 3
71087023268. 4

Question Number : 118 Question Id : 7108705818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of Merchandise Planning Process in the correct sequence
A. Develop and assortment plan

B. Allocate merchandise for stores and buy merchandise

C. Forecast category sales

D. Develop a plan for managing inventory

E. Determine appropriate inventory level and product availability

Choose the correct answer from the options given below:

1.A D CB,E
2D,ABEC
3ACEBD
4. C,AEDB
Options :

71087023269. 1
71087023270. 2
71087023271.3
71087023272. 4

Question Number : 119 Question Id : 7108705819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Give the correct sequence of cut order planning in the garment industry
A. Determining volume, size ratios for marker making and spreading

B. Examining incoming orders and piece goods availability

C. Develop instructions for optimum fabric utilization

D. Determining the availability of markers

E. Releasing orders for marker making, spreading and cutting

Choose the correct answer from the options given below:

1.B,A D CE
2B A CDE
3.B,ADELC
4.B,D, A CE
Options :

71087023273. 1
71087023274. 2
71087023275.3
71087023276. 4

Question Number : 120 Question Id : 7108705820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of cotton spinning system in the correct sequence
A. Roving

B. Combing

C. Carding

D. Spinning

E. Opening, cleaning, blending

F. Picking

Choose the correct answer from the options given below:

15 B B C-FE
2ZFECDAB
3.FBEACD
4B, FACD,E
Options :
71087023277. 1
71087023278. 2
71087023279. 3
71087023280. 4



